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lnslrucfrons to Private candrclafes only: Thisquesfior paper conlarns fwo secflons. Answer

SEC7TON I qriesflons ln the answer-baok provided. SgCfr0rV ll, lnternal examination qtresfrons

must be ansr,yered in the question paperifself Follow fJre cfefar?ed insfruclions Eiven under

sEcilol{i i,

Part A

Alrswer any ten quesfions.

Eacfi quesiio n carries 2 marks.

1. fxplain the c*ncept of circular flow of economic activity

Z. Define National lncome.

3. lnventsries.

4. what are the difficulties in the measurement of national income?

5. How is the rate of interest deternrined in the classical system?

6. fxplain Pigou effect.

7. Consumption function.

g Explain two important determinants of investrnent.

g. What is effective dernand?

10. What is under employment equilibrium?

j1. What is baianced budget multiplier?

12. What is lS Curve?

Part B

A :'t sv't t: r any' .s;x quesfinls.

Each quesfio n can"ies 5 rnarks.

.,

{ 1 0x2=20)



13. Bring out the difference beween microeconomics and macroeconomics.

14. Explain the social accounting method in national income estimation.

15. Explain the measure of Green Accounting .

16. Cash transactions version of quantity theory.

17. Explain Classical dichotomY.

1g. Distinguish b*tween APS and l,l'lPS.

1g. Discuss the subjective factors determining consumption.

20. What are the effects of changes in autonomous investment?

21. Explain with the help of diagram the equilibriurn in the goods market.

Part C

Ansyrer any twa quesflons.

Each quesfion carries 15 marks.

22. Explain the inconte rnethod of measuring national income.

?3. What are the fundamental assumptions of Classical theory?

?4. Explain the Keynesian psychological law oi consilmption'

25. Explain 2 sector Keynesian cross model of income determonation
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